OO0 5. 00000000 ClawsiusO0OOD0O, 0000000
gobooboogn

F U-TS (Helmholtz 0 000000 0)
G = U+pV —TS0O (Gibbs 0ODOOOODODO)

goboboooobbodgd:

dU = TdS — pdV + udN
dF = dU —TdS — SdT = —SdT — pdV + udN
dG = dU +pdV + Vdp — TdS — SdT = —SdT + Vdp + udN

00000000 Clausius 0000000000000 O
000000000 A(T,V,N)— B(T,V',N')
000 AD0OO0 BOOOTOOOOOOO0000000000000
0000000700,

am_sm)z/jj,:

A

e JODOOODOO W=0

e DODODOOOW =pAV =p[V(B) —V(A)]
O(B)—®(A)=[U(B)+pV(B)-TS(B)|—[UA)+pV(A) -TSA)] <0
U obuoggobboooobooboogd

e« 0000000
W < —[F(B) - F(A)]



